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Find the vertex of T iy
Ay =2 23;22 ;ﬂz\e following equcxhgrlss/.= (X + 500)? - 250 C.y=—(x+22)2+ 22
(28,72) (-500,-250) (-22,77)
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Graph the following quadratic functions:
Ly =(x=1)2 +] 2. y=(x+3)2+3
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Algebra | ‘ ' Unit 8: Quadratic Functions “ Practic

Match the graph of a quadratic to an equation:

Answer: 6

Equations:

a. y=—(x+4)2+56

®y=(x-4)2+6

C. y=2(x—-4)2-6

d y=(x+4)2+6

Review: Factor the following expressions completely.

a. 2x2 + 16x b.x2-12x+ 36 C.X2-7x+6

- 2% (1 ) - (x-L)1-0) = (x-LYx1)

™ 10
d.5x2-10x-15 e.x2+x-2 f.7x2=17x+ 10 Tx X -5,-2
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